AF12 Section 2.5 Example 2
Solve Polynomial Inequalities Numerically Using a CAS
Solve  x4 –  5x2 +  4 < 0. Verify your answer graphically.

Solution:

( Turn on the CAS. Press the [image: image6.emf]  key and select 8: System Info.

( Select 2: System Settings.

( Tab down to Auto or Approx, and ensure that Auto is selected.

( Tab down to OK and press enter.
( Press the [image: image2.png]


  key and select 6: New Document.
( Open a new calculator page. 
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( Press menu, and select 1: Actions.

( Select 1: Define.

( Type f1(x) = x4 –  5x2 +  4.

( Press enter.
( Press menu, and select 3: Algebra.

( Select 1: Solve.
( Type f1(x) = 0,x.  Press enter.
The solutions will be displayed.

The intervals are x < –2, –2 < x < –1, 
–1 < x < 1, 1 < x < 2, and x > 2.
Test a value less than –2, say –3.

[image: image4.emf]( Type f1(x) < 0 | x = –3, and press enter. 
The CAS returns a value of false. The inequality is false for values of x less than –2.
Similarly, test a value in each of the other intervals.

( Press the up cursor twice.

( Press enter.

The previous entry will be copied. 

( Use the ← key to erase the –3, and type –1.5.
( Press enter.
[image: image5.emf]( Press the [image: image3.png]


  key and select 2: Graphs & Geometry.

( Press the up cursor once to return to f1.

( Press the right cursor to display the function.

( Press esc to move to the graphing screen.

( Press menu, and select 5: Trace.

( Select 1: Graph Trace.

Use the cursor keys to trace along the graph to verify your answers.

